Here we are presented with three sinusoidal voltages, and we are looking for a number of properties of each.

Let’s make a table of all of the requested properties and then begin with the first voltage.

Here is its amplitude, 52, and its unit would be volts.

There is our phase, 30°.

The peak-to-peak value is the total distance between the positive and the negative peaks.

For a sinusoid, that is twice the amplitude—at least for a sinusoid centered on zero.

Here is our angular frequency, ω, in radians per second.

This is the equation we use to convert angular frequency into cyclic frequency, which is in Hertz.

Alternatively, we can remember this equation here when we want to know ω.

Cyclic frequency is always smaller than its corresponding angular frequency.

That’s a good way to check your work.

Period, T, is the reciprocal of cyclic frequency; and here we find it’s 11.0 milliseconds.

Let’s move on to our second sinusoidal voltage.

Its amplitude is 35 volts.

Peak-to-peak would be twice that, 70 volts.

Its phase is -70°.

Everything in front of the t would be our angular frequency.

2,000π is the same thing as 6,280 radians per second.

Dividing by 2π yields 1,000 Hertz.

The period is 1 millisecond.

Let’s begin our third voltage.

Its amplitude is 20 volts.

40 volts for peak-to-peak.

Phase is 0°, because we have no additional component to the argument of cosine.

[math equation]

We find that we have 6.28 milliseconds for the period.

We are done with all three voltages.
